MATEMATIKIC YK TMA 4120
EXSAMEN 1.X0 . 201y
i t
@ ::] +:l = (-2
l ==
*1(0) = 0, "1(0\ = O
Folb -1y = (#-V\ult-2\ + 2a(e-0)
PYR Y
[ {#ult} = ¥ = +e ==
~anf | \\
Q v = —_— -
LA+ A)Y 1Ay = C (Az o
\ =
A1+
{
AN + A _ f‘__ + Bq A ..C_ 4 o
- ) L N N+
AL A N 4
\ \
N
A.‘ AL N N+
& £ - et
a!
ANSWE ! 3

j(é) = M(‘f"l){—_{}-




@ M(Xll\ = )(3—-3x']l

j"\ &ac}:) VlM. = O. va

v _ Bm o I x - 3]1
Y X CAvClY—
av _Om RIEMANN
Ak "“}
,\)(x‘._l\ = 'Sx Aa + C(x)
X + C (xy = ) = €x
_____2/—— 34 ——3
= C'ix\ = O
Srvrcnrn '\)(x,‘\ = 3x1-1—~33+ C .
3
(glar = 2% = xwigp” =)
(o) s b = o ww« Homs
a, = n= 0t X
iy = E b, ~e(nx)
. ‘ y
"
6 = ES SYS\K\/\AM(»\A dx — | §R15lin)
n T T
(o] “T;/L



W

= }_-;J:.&X/\*{M(nx‘\clx
LW

n
—ﬁ/L Tf/{
Nl
Y _xcm(‘h&\ + £ on{nx) dx
= ?1- n | g
-5, ~T),
__i-::.O
niv 8 n'.'\)
= -+ _':_l;_:?. //\"’W\(“’q = -:__-LW(T
n n
..T(IL
() — O n = 1m—l (oexal AMM\
In J
™+
() = ’—g__i—l (—l\
am—i (lm—-—\\ 1]
no N \
(= 2 C0 e [k
T QAm-t)
m = |

(GO Nekie that {10 D Hh nome

SQ/rCnhaj’Aw\ o.{ UWJJ”LU\:

9—11 = 33?_"‘_). Mmix ) = X(x\—l_(‘t)
Nt Rt ’
XT =3X T






M

Y+ 1 L8 Ym = 3

I/AL
_ 2
\{(A\[H'L(//s"l N
d A
— (* = e
Tlal = 0w, A el
S \ -t X
/j\(w) — —-—‘S‘l(x\c on
Vo |
( -y, .
L (e e T ax = = /QEM
—_— — — X X - -t
| ok
0
0O :
I [
-t X




Z—-t—é
(—'1" dz
e e — \ .
|_ 2~ = ¢ &
g 1+MM(9\ 1+ =
X ¢

¢ \2\=\

Tfm 4N\tjf\w~~e o B wn Mo

2
4 X (2+0)
i g2t (2+acz ) 12’-(2“"3‘9"““”3*””
2:1(-L+\)") (EMJM.L.N
1
N — Hha

jWVQ{ 7 PR p-/wQ we e B

2 =0. TLM.A
T L gen {fﬁm’\:[z\ + ’RM":\&\}S

2 = V32l

1|°\ MMHA‘\“%“:\
: X z - V—_~L)L Z“(V-i—l\c.)
y) TL Nons hia, k- (3 o },w.lmh«f
2= (~2+03) A

ZL; _:"_'_L[\;"i ) ‘ZL_;_l = —6 -l—"l(}-_iﬁ~

@) = 10 {F-10
_ (2 S e - V3.
(=L4V3 )0 2= a3 )L



u)jﬁu_ Nersdue. ok 2 =0 (JoMﬁ)
1) Myl (z-0),

4 L
i 2 v+l ) Diffti e s,
(Zz_l,\-"z__\\ 3)&1&&012:0

d 2z
(LIZ £ 9z ) (v -0 —-(-12—+“h\(% +LZ +\\
) 9 (2 4l &-—l\
- Wi
_ - = =2 ok Z =0
3 -0~
Ttu,. u e Pars due ) A MJM‘“ mm’"’w’
i) by
C.wl(e'\ . vyt
e
et L+ me (D)
o = (3—-\/—\2117.
T
@ {(2) et-1-% ?A\"’T*
) = = 3
74202+ Y (z-0 (2 + 1)
t/
ku. :tfw\g(z\ :-——-‘}—l"" =-= ( F00) and Ao
z2->b (=0 () b
MXM;X:‘\

t a rv‘et (CRWO‘UG/()‘()- N‘MJ
(e-\-'l + 0) with nan e

=0 A Y\o

i) = 55
=\

2=-\ &, a Mm L-._pi‘c(t‘—la-l#o\ wlly rwdue
%{&k}\\ = —:_i- ] "‘1—:



